= AH O
N = 0 &8 AF S & Al A
20108 = 20& AT ALY SYESH &A
S Aot A E A
M AT 2 (SEES/MolEx - £=2)
ol XNBa+S AlE HUl(A+SAIE SE3H) (&2 &
_ _ boE ==
2MH - 2 . H2(ZH) - MEAY - BES 0] AFCH @;OH Hns
ABHEEAFH A 2,645,228 3,510,493 N\865,265
ASE (B AES/MNGIEE - 7)) 2,194,077 3,234,081 1,040,004
Nga-E Al (AT AIY SE3H) 2,194,077 3,234,081 1,040,004
Ketata=E ARSEZA 35,000 30,000 5,000
401 Al&HIL 20 35,000 30,000 5,000
01 Al&H| 34,622 29,676 4,946
OXNga+ET MRS At 34,622,000 34,622
03 AIE20iHI 378 324 54
OXNeaaE ARZS4 2 A
35,000,000 %1.08/100 378
NetataE =123 100,000 150,000 A50,000
401 Al&H| L2 100,000 150,000 250,000
01 Al&HI 99,100 148,920 A49,820
OXgasz =232 (2Ma) 99, 100,000 99,100
03 AIEE20iHI 900 1,080 A 180
OXNYgaxE Z=IB2(2HA)
100,000,000 *0.90/ 100 900
U222 2203 AIY 480,000 330,000 150,000
401 Al&HIZL =20 480,000 330,000 150,000
01 Al&H] 476,580 328,200 148,380
USE SSU ALY 99, 100,000& 99,100
OXZAM4+E E8HH 5 £ S2EAM &Y
148,920,000 148,920
OozzEz 2 =52 WAHAR 99,100,000 99,100
OXeasE SH AX 50,000,000& 50,000
OXegalaE “5H2| DA 30,000,000& 30,000
O&XASI WAl 49,460,000 49,460
03 AIEE20HI 3,420 1,800 1,620
Ue= 2SO ALY
100,000,000 *0.90/ 100 900
OXZA4+T E8HH 5 & S2EAM &Y
150,000,000 *0.72/100 1,080
O2ZEH &L =52 WHAY
100,000,000 *0.90/100 900
OEX A WA 50,000,000 x1.08/100 540
SIS NeaxT FH| 500,000 500,000 0
401 Al&HI L 20 500,000 500,000 0
01 Al&H| 496,400 496,400 0
OdS NALEE =52 DHZA 496,400
ALY PNREIRN = B e 496,400,000 496,400




2N Mol AIE A
HE: AAT BP(BAYS/AGAL . AF)
SR KEASET AlE HU(ATAIYE SEE35H) (28
S HEM O (S H) - HIRAY - BAS Of) & o4 dE = Hm=2
- e ° T EEREES = 04”:"% ree
03 AlE=20HY] 3,600 3,600 0
Oedg ANEaLE 52 DHZA 3,600
—IHOI A EE B4
500,000,000& *x0.72/100 3,600
H4E 22 803,817 662,231 141,586
101 @l&y| 2,352 1,920 432
04 JI2tMZ22ANsSEx 2,352 1,920 432
OFA% X HEHI o=el(55H4)
33,600 x7H x10 2,352
201 LBEr2AY| 728,125 611,517 116,608
01 AR 2t2ld] 156,775 97,879 58,896
Og8t=Z2H| 33,500,000 33,500
oggse 121,350,000& 121,350
O=&| 1,925,000 1,925
02 2239t 571,350 513,638 57,712
O2Z2Z2Y A 568,350,000 568,350
Od = | 2,000,000 2,000
OAl& &HI KX 8] 1,000,000 1,000
202 O4d] 3,800 3,800 0
01 =2Wobl 3,800 3,800 0
Oft=E 2HHA =8 1,800,000 1,800
Oat=E MHOILF & ARG =2HA 2,000,000 2,000
206 M= H| 68,100 43,554 24,546
01 MZ=H| 68, 100 43 554 24 546
OUISH4E ASUHE U £HAAS AE 7
ol 68, 100
— B (HAZTAIGG 4F)
10,000,000 23| 20,000
—SEAMNY A U W2 7Y
30,000,000& 30,000
—L=AH2AANE WY Y 3,100,000 3,100
_REAEEEHTA AT
1,000,000 *33| *5IH A~ 15,000
301 LEtE A= 1,440 1,440 0
10 SALAHI 2 A2 1,440 1,440 0
OMAE 2TAN QA0 BT
30,000 x4H x12& 1,440
A2 ti=Xl 22| 120,000 70,000 50,000
401 AlEHIZLE0HH] 120,000 70,000 50,000
01 Al&H| 119,460 69,460 50,000
OXL=2 DX T AH 49,460,000 49,460
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B a (BARS/MEAE - 28)
Shel: XgaxE A8 FUl(M4+ZAE SE3IH) (el &)
SN S(B) - NRAY - B2 Aro e =2
OF4& 20 UK L HAZT HI+X Ha
20,000,000& 20,000
O&+% =506 IX GItAtR X 50,000,000 50,000
03 Al 20| 540 540 0
O&F==& X =M  50,000,000& 1.08/100 540
oidigl (&%) 185,260 1,491,850 21,336,590
801 ollgldl 165,260 1,491,850 A 1,336,590
01 oilbldl 155,260 1,491,850 A 1,336,590
oollgldl 155,260,000& 185,260
HHY2HHU (Aot AFE A ) (D1 EHDIIE 223,151 180,412 42,739
QlA2AY| (AT ALY SEFIH) 223,151 180,412 42,739
ol 2| 223,151 180,412 42,739
101 Q1 Z4H| 223,151 180,412 42,739
03 RIAHAZZNE = 223,151 180,412 42,739
OM+EHel (8 &4, 40H, ZH1, HE1, QA2
JtOk1, D12 223,151
—Jl=3 107,151
-Jls 35,6003 »2H x255 18,156
- et 34,900 10H +2552 88,995
PARAE= 10,422
- JIS 35,6003 2% 2482 «10% 1,766
gt 34,9003 10 x248 «10% 8,656
—&0=s 107, 151,000& *1/3 35,717
—E2Z2SE 14,182
JIS 35,6002 %1/8%1.5%15A| 2Hx2H « 123 2,403
2Bt
34,9003 *1/8%1.5%15A1 2tx 10 » 12& 11,779
— 5= 21,851
s 35,6003 x2%H x52 3,703
2 gt 34,9003 10 52 18,148
—5d22E 4,413
s 35,6003 x2H 7 *1.5 748
2Bt 34,900 x10H 72 x1.5 3,665
—HXEItY 7,564
- JIS 35,600 x2H x18 1,282
2 gt 34,9003 »10€ 18 6,282
—EQIFRLE 21,851
-Jls 35,6003 x2H x5 3,708
- Yt 34,900 x 10 52 18,148
WRES (M CAYA) (LBHBZHE /WY - 28) 228,000 96,000 132,000
BEXNE (AT AIY SE3IH) 228,000 96,000 132,000
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